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QUESTION 1

Your company has two separate, untrusted Active Directory (AD) domains. You need to serve CIFS shares to users in
both AD domains and will later merge to one AD domain. The end goal is to serve all CIFS shares out of a single SVM. 

In this scenario, which two actions will meet both requirements? (Choose two.) 

A. Create two SVMs. 

B. Execute thevolume rehostcommand. 

C. Create one SVM. 

D. Execute thevolume modifycommand. 

Correct Answer: AD 

 

QUESTION 2

Click the Exhibit button. 

A volume is only 25% full; however, the snapshot reserve is almost full. Referring to the exhibit, what occurs after the
volume\\'s snapshot reserve is full? 

A. The creation of new Snapshot copies fails. 

B. User-created Snapshot copies are deleted, beginning with the oldest, until the snapshot reserve has 20% free
space. 

C. Snapshot copies start consuming the volume\\'s free space. 

D. Scheduled Snapshot copies are deleted, beginning with the oldest, until the snapshot reserve has 20% free space. 

Correct Answer: A 
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QUESTION 3

A customer requires that their data is fully protected from theft, both at the volume layer and at the disk layer. 

Which two features of ONTAP satisfy this requirement? (Choose two.) 

A. Kerberos 

B. NetApp Volume Encryption 

C. Challenge Handshake Authentication Protocol 

D. NetApp Storage Encryption 

Correct Answer: BD 

 

QUESTION 4

When a storage QoS policy is configured, which two metrics are configured with a maximum limit? (Choose two.) 

A. TOPS 

B. latency 

C. MBps 

D. concurrent connections 

Correct Answer: BD 

 

QUESTION 5

You are using an AFF A700. 

In this scenario, which two default storage efficiency techniques will help save space? (Choose two.) 

A. postprocess deduplication 

B. inline deduplication 

C. postprocess compaction 

D. inline compression 

Correct Answer: BD 
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